












483 396 625 834 967 

If 2 is added to the last digit of each number and then the positions of the first 

and the second digits are interchanged, which of the following will be the 

highest number? 

यदि प्रत्येक संख्या के अंदिम अंक में 2 जोडा जािा ह ैऔर दिर पहले और िसूरे अंक के स्थान 

आपस में बिल दिए जािे हैं, िो दनम्न में से कौन सबसे बड़ी संख्या हो ़ी? 

1. 396 

2. 625 

3. 967 

4. 834 

5. 483



483 396 625 834 967 

If in the above set of numbers 1 is added to the last digit and 2 is 

subtracted from first digit, then which number will be third if arranged in 

descending order?

यदि उपरोक्त संख्याओ ंके सेट में अदंिम अकं में 1 जोडा जािा ह ैऔर पहले अकं से 2 

घटाया जािा ह,ै िो अवरोह़ी क्रम में व्यवदस्थि करने पर कौन स़ी संख्या ि़ीसऱी हो ़ी?

1. 396 

2. 625 

3. 967 

4. 834 

5. 483



483 396 625 834 967 

If each number is multiplied by 2, then what is the multiplication 

of the 1st digit of the lowest and last digit of the largest number?

यदि प्रत्येक संख्या को 2 से  णुा दकया जािा ह,ै िो सबसे छोट़ी संख्या के पहले

अंक और सबसे बड़ी संख्या के अंदिम अंक का  णुा क्या ह?ै 

1. 24 

2. 30 

3. 36 

4. 28 

5. 20



483 396 625 834 967 

If each number first and third digits are interchanged, then how 

many even numbers are there?

यदि प्रत्येक संख्या के पहले और ि़ीसरे अंक को आपस में बिल दिया जाए, िो 

दकिऩी सम संख्याएँ हों ़ी?

1. 3 

2. 2 

3. 4 

4. 5 

5. 1



How many meaningful English words can be formed with the second, 

fifth, sixth and seventh letters of the word "PLAGIARISM", using each 

letter only once in each word? (To be counted from left) 

शब्ि "PLAGIARISM" के िसूरे, पांचवें, छठे और सािवें अक्षरों से प्रत्येक शब्ि में प्रत्येक 

अक्षर का केवल एक बार प्रयो  करके अगं्रेज़ी के दकिने अथथपणूथ शब्ि बनाए जा सकिे हैं? 

(बाई ंओर से द ने जाने के दलए) 

1. One 

2. Two 

3. Three 

4. Four 

5. More than four



Statement:  H ≤ G ≤ J ≥ L >A >Q = Y < R

Conclusions: 

I. J > Q

II. Q < R 

1. Only conclusion I follows 

2. Only conclusion II follows 

3. Both I and II are follow 

4. Either conclusion I or II follows 

5. None of these



Statements:  F < H ≤ L; L < J ≤ S < A 

Conclusions: 

I. S > F 

II. A < H

1. Only Conclusion I is True. 

2. Only Conclusions II is True. 

3. Either Conclusion I or II is True. 

4. Both Conclusions I and II are True 

5. Neither Conclusion I nor II is True.



Statements: R < O ≤ L ≤ E; G = E ≥ S ≥ P 

Conclusions: 

I. R < S 

II. O ≤ G 

1. Only Conclusion I is True. 

2. Only Conclusions II is True. 

3. Either Conclusion I or II is True. 

4. Both Conclusions I and II are True. 

5. Neither Conclusion I nor II is True



Statements: P > Q = R ≥ S; T ≥ U ≤ V = S 
Conclusions: 

I. V = R 

II. V < R 

1. Only Conclusion I is True. 

2. Only Conclusions II is True. 

3. Either Conclusion I or II is True. 

4. Both Conclusions I and II are True. 

5. Neither Conclusion I nor II is True.



Statements : A > C ≥ T > I ≥ O > N

Conclusions : I. A > N

II. C > O

1. Only Conclusion I is True. 

2. Only Conclusions II is True. 

3. Either Conclusion I or II is True. 

4. Both Conclusions I and II are True. 

5. Neither Conclusion I nor II is True.



if in the word "ASSESSMENT" each consonant is replaced by the alphabet 

following it and each vowel is replaced by the previous alphabet of the english

alphabetical series then which of the following will be the seventh from the right? 

यदि शब्ि "ASSESSMENT" में प्रत्येक व्यंजन को उसके बाि के वणथ से बिल दिया जाए और प्रत्येक 

स्वर को अंगे्रज़ी वणथमाला श्रंखला के दपछले वणथ से बिल दिया जाए, िो दनम्नदलदखि में से कौन सा िायें 

से सािवाँ हो ा?

1. M 

2. E 

3. F 

4. D 

5. N



In a certain code VINIT is coded as 49490, HARSHIT is coded 

as 8123890. How is RISHI coded in that code ?

एक निनित कोड में VINIT को 49490 के रूप में कोनडत नकया जाता है, 

HARSHIT को 8123890 के रूप में कोनडत नकया जाता है। उस कोड में 

RISHI को कैसे कोनडत नकया जाता है?

(1) 29839

(2) 29389

(3) 29489

(4) 28939

(5) None of these



In a certain code language, ANIMATION is written as 

UJPODYLGK, then how is AUSTRALIA written in same code 

language?

एक निनित कूट भाषा में, ANIMATION को UJPODYLGK के रूप में 

निखा जाता है, निर AUSTRALIA को उसी कूट भाषा में कैसे निखा जायेगा 

?

(1) BMJBUYRQS

(2) YLGKDUJPO

(3) BMJBUYSQR

(4) ZUTNFMHRT

(5) None of these



In a certain code PERSON is coded as 724163, SHARE is coded 

as 18542. How is HERO coded in that code ?

एक निनित कूट भाषा में, PERSON को 724163 के रूप में निखा गया है, 

और SHARE को 18542 के रूप में निखा गया है तो HERO को उसी कूट 

भाषा में कैसे निखा जायेगा ?

(1) 8246

(2) 8244

(3) 8264

(4) 2846

(5) None of these



In a certain code language, ASSOCHAM is written as 

KGGYOATY, then how is SURGERIE written in same code 

language?

एक निनित कूट भाषा में, ASSOCHAM को KGGYOATY के रूप में निखा 

गया है, तो SURGERIE को उसी कूट भाषा में कैसे निखा जायेगा ?

(1) GEHSWJSW

(2) SHEGWRIW

(3) SEHGWJSW

(4) SHEGWSJW

(5) None of these



In a certain code PERSON is coded as 24, HARE is coded as 5. 

How is CAR coded in that code ?

एक निनित कूट भाषा में, PERON को 24 के रूप में निखा गया है, और 

HARE को 5 के रूप में निखा गया है तो CAR को उसी कूट भाषा में कैसे 

निखा जायेगा ?

(1) 30

(2) 5

(3) 3

(4) 25

(5) None of these



Statements: 

Some cricket are football. 

Only a few football are ball. 

No ball is bat 

Conclusions: 

I. Some football is not ball .

II. All bat can be cricket .

कथन: 

कुछ दक्रकेट िुटबॉल हैं। 

केवल कुछ िुटबॉल बॉल हैं। 

कोई बॉल बैट नहीं ह ै

दनष्कर्थ: 

कुछ िुटबॉल बॉल नहीं ह।ै 

सभ़ी बैट दक्रकेट हो सकिे हैं।



Statements: 

Some cricket are football. 

Only a few football are ball. 

No ball is bat 

Conclusions: 

I. Some football is not ball .

II. All bat can be cricket .



Statement: 

I. Only a few grapes are 

cherry 

II. Some cherry are banana 

III. No banana is apple 

Conclusions: 

I. All grapes are apple 

II. Some grapes are not apple

कथन: 

केवल कुछ अं रू चेऱी हैं 

कुछ चेऱी केले हैं 

कोई केला सेब नहीं ह ै

दनष्कर्थ: 

सभ़ी अं रू सेब हैं 

कुछ अं रू सेब नहीं हैं



Statement: 

I. Only a few grapes are 

cherry 

II. Some cherry are banana 

III. No banana is apple 

Conclusions: 

I. All grapes are apple 

II. Some grapes are not apple



Statements: 

All tea is coffee. 

All coffee is butter. 

Only a few butter is milk.

Conclusions: 

I. Some milk is coffee 

II. Some tea is milk

कथन: 

सभ़ी चाय कॉिी हैं। 

सभ़ी कॉफी बटर ह.ै 

केवल कुछ बटर दमल्क हैं. 

दनष्कर्थ: 

कुछ िधू कॉिी हैं 

कुछ चाय िधू है



Statements: 

All tea is coffee. 

All coffee is butter. 

Only a few butter is milk.

Conclusions: 

I. Some milk is coffee 

II. Some tea is milk



Statements: 

Some buildings are sofas. 

Some sofas are benches. 

Some benches are tables. 

Conclusions: 

I. Some tables are sofas. 

II. No table is sofa.

कथन: 

कुछ इमारिें सोिा हैं। 

कुछ सोिे बेंच हैं। 

कुछ बेंच टेबल हैं. 

दनष्कर्थ: 

I. कुछ टेबल सोिा हैं। 

II. कोई टेबल सोिा नहीं ह.ै



Statements: 

Some buildings are sofas. 

Some sofas are benches. 

Some benches are tables. 

Conclusions: 

I. Some tables are sofas. 

II. No table is sofa.



“filter water found everywhere” is coded as “bhu man juk lop”

“found lost items everywhere” is coded as “ gan bhu nut juk”

“apply filter search items” is coded as “ vax der man nut”

“found water desert search” is coded as “but juk der lop”

How "apply" is coded in the given language?

ि़ी  ई भार्ा में "apply" को कैसे कोदिि दकया  या ह?ै

A . nut

B . der

C . vax

D . man

E . Can't be determined



“filter water found everywhere” is coded as “bhu man juk lop”

“found lost items everywhere” is coded as “ gan bhu nut juk”

“apply filter search items” is coded as “ vax der man nut”

“found water desert search” is coded as “but juk der lop”

What is the code for "lost water"?

A. juk gan

B. nut gan

C. gan lop

D. lop bhu

E. Can't be determined



साि बॉक्स – Z, A, V, B, U, C और W हैं

जो एक के ऊपर एक रखे हैं लेदकन जरूऱी नहीं 

दक इस़ी क्रम में हों। ऩीच ेके बॉक्स की संख्या 1 

ह ैऔर इसके ऊपर के बॉक्स की संख्या 2 ह ैऔर 

इस़ी िरह श़ीर्थ बॉक्स िक दजसकी संख्या 7 ह।ै 

V और Z के ब़ीच िो बॉक्स रखे  ए हैं, दजसे V 

के ऊपर एक दवर्म संख्या की दस्थदि में रखा 

 या ह।ै िो बॉक्स के ब़ीच में रखा  या ह।ै A और 

W. Z और W के ब़ीच ि़ीन बॉक्स रखे  ए हैं। 

B, U के ठ़ीक ऊपर रखा  या ह,ै जो V के ऊपर 

नहीं रखा  या ह।ै

There are seven boxes – Z, A, V, B, 

U, C and W which are placed one 

above the other but not necessarily in 

the same order. The bottom box is 

numbered 1 and the box above it 

numbered 2 and so on till the top box 

which is numbered 7. Two boxes are 

placed between V and Z, which is kept 

at an odd number position above V. 

Two boxes are kept between A and W. 

Three boxes are kept between Z and 

W. B is kept immediately above U, 

which is not kept above V. 



There are seven boxes – Z, A, V, B, 

U, C and W which are placed one 

above the other but not necessarily in 

the same order. The bottom box is 

numbered 1 and the box above it 

numbered 2 and so on till the top box 

which is numbered 7. Two boxes are 

placed between V and Z, which is kept 

at an odd number position above V. 

Two boxes are kept between A and W. 

Three boxes are kept between Z and 

W. B is kept immediately above U, 

which is not kept above V. 



Eight persons Paro, Runa, Sona, Kim,Harry, Ram, 

Geet and Monu are going for seven days holiday 

on different months of same year i.e. January, 

February, March, April, May, June, July and 

August. All information is not necessarily in same 

order. Harry goes in the month of August. Sona

goes in the month which has odd number of days. 

Geet goes just after the month in which Sona goes. 

Three persons goes between Monu and Sona. Runa

goes in the month which has even number of days 

but not in February. Two persons goes between 

Kim and Ram, who does not go in the month 

which have odd number of days. Ram does not go 

in February. Paro does not go after Kim. Monu

goes in the month of May . 

आठ व्यदक्त पारो, रूना, सोना, दकम, हरै़ी, राम,  ़ीि और 

मोन ूएक ह़ी वर्थ के दवदभन्न मह़ीनों याऩी जनवऱी, िरवऱी, 

माचथ, अपै्रल, मई, जनू, जलुाई और अ स्ि में साि दिनों 

की छुट्ट़ी पर जा रह ेहैं। जरूऱी नहीं दक सभ़ी जानकाऱी इस़ी 

क्रम में हो। हरै़ी अ स्ि के मह़ीने में जािा ह।ै सोना दवर्म 

दिनों वाले मह़ीने में जािा ह।ै  ़ीि उस मह़ीने के ठ़ीक बाि 

में जािा ह ैदजसमें सोना जाि़ी ह।ै मोन ूऔर सोना के ब़ीच 

ि़ीन व्यदक्त जािे हैं। रूण उस मह़ीने में जािा ह ैदजसमें दिनों 

की संख्या सम होि़ी ह ैलेदकन िरवऱी में नहीं। दकम और 

राम के ब़ीच िो व्यदक्त जािे हैं, जो उस मह़ीने में नहीं जािा 

ह ैदजसमें दिनों की संख्या दवर्म होि़ी ह।ै राम िरवऱी में

नहीं जािा ह।ै पारो दकम के प़ीछे नहीं जाि़ी। मोनू मई के 

मह़ीने में जािा ह।ै



Eight persons Paro, Runa, Sona, Kim,Harry, Ram, 

Geet and Monu are going for seven days holiday 

on different months of same year i.e. January, 

February, March, April, May, June, July and 

August. All information is not necessarily in same 

order. Harry goes in the month of August. Sona

goes in the month which has odd number of days. 

Geet goes just after the month in which Sona goes. 

Three persons goes between Monu and Sona. Runa

goes in the month which has even number of days 

but not in February. Two persons goes between 

Kim and Ram, who does not go in the month 

which have odd number of days. Ram does not go 

in February. Paro does not go after Kim. Monu

goes in the month of May . 



In a shop, 6 boxes containing books of 

different subjects are kept. They are - Physics, 

Chemistry, Biology, mathematics, English, 

Hindi. Each box has a number written on it 

from 1 to 6 but not necessarily in that order. 

The boxes are arranged in a stack in ascending 

order with the lowest numbered box at the top. 

The box containing Physics book is kept at the 

top. There are three boxes between the box of 

Physics books and box of Hindi books which 

is immediately above the box of Biology 

books. Box of Mathematics books is kept 

immediately above box of English books and 

immediately below box of Chemistry books.

एक िकुान में दवदभन्न दवर्यों की पसु्िकों के 6 दिब्बे रखे 

हुए हैं। वे हैं - भौदिकी, रसायन दवज्ञान, ज़ीव दवज्ञान, 

 दणि, अगं्रेज़ी, दहिं़ी। प्रत्येक बॉक्स में 1 से 6 िक की 

संख्या दलख़ी होि़ी ह ैलेदकन जरूऱी नहीं दक इस़ी क्रम में

हो। बॉक्स श़ीर्थ पर सबसे कम संख्या वाले बॉक्स के साथ 

आरोह़ी क्रम में स्टैक में व्यवदस्थि होिे हैं। भौदिकी की

दकिाब वाला दिब्बा सबसे ऊपर रखा  या ह।ै भौदिकी 

की दकिाबों के दिब्बे और दहिं़ी की दकिाबों के दिब्बे के 

ब़ीच ि़ीन दिब्बे हैं, जो ज़ीव दवज्ञान की दकिाबों के 

दिब्बे के ठ़ीक ऊपर ह।ै  दणि की दकिाबों का दिब्बा 

अगं्रेज़ी की दकिाबों के दिब्बे के ठ़ीक ऊपर और रसायन 

दवज्ञान की दकिाबों के दिब्बे के ठ़ीक ऩीचे रखा जािा ह।ै



In a shop, 6 boxes containing books of 

different subjects are kept. They are - Physics, 

Chemistry, Biology, mathematics, English, 

Hindi. Each box has a number written on it 

from 1 to 6 but not necessarily in that order. 

The boxes are arranged in a stack in ascending 

order with the lowest numbered box at the top. 

The box containing Physics book is kept at the 

top. There are three boxes between the box of 

Physics books and box of Hindi books which 

is immediately above the box of Biology 

books. Box of Mathematics books is kept 

immediately above box of English books and 

immediately below box of Chemistry books.



Eight persons - A, B, C, D, P, Q, R and S live in a 

4-storey building such as ground floor is numbered 

as 1 above it numbered as 2 then top floor is 

numbered as 4 but not necessarily in the same 

order. Each of the floors has two flats in it as flat-1 

and flat-2. Flat-1 of floor 2 is immediately below 

flat-1 of floor 3 and so on. In the same way, flat-2 

of floor 2 is immediately above flat-2 of floor 1 and 

immediately below flat 2 of floor 3 and so on. Flat-

1 is to the West of flat-2. Q lives in an odd-

numbered floor but not on floor number 1. Both R 

and B live in the same flat number. R and A live in 

the same floor. B does not live in flat-2. There is a 

gap of one floor between Q and S. Both Q and S do 

not live in the same flat. R lives 3 floors above B. C 

lives immediately below D on the same flat.

आठ व्यदक्त - A, B, C, D, P, Q, R और S एक 4 मंदजला

इमारि में रहि ेहैं जैसे भिूल की संख्या 1 ह,ै इसके ऊपर की संख्या 

2 ह ैिो श़ीर्थ मंदजल की संख्या 4 ह ैलेदकन आवश्यक नहीं दक एक 

ह़ी क्रम। प्रत्येक मंदजल में फ्लैट-1 और फ्लैट-2 के रूप में िो फ्लैट 

हैं। िल 2 का फ्लैट-1, िल 3 के फ्लैट-1 के ठ़ीक ऩीच ेह ैऔर इस़ी 

प्रकार आ  ेभ़ी। इस़ी िरह, मंदजल 2 का फ्लैट-2, मंदजल 1 के 

फ्लैट-2 के ठ़ीक ऊपर और मंदजल 3 के फ्लैट 2 के ठ़ीक ऩीच ेह ै

और इस़ी िरह। फ्लैट-1 फ्लैट-2 के पदिम में ह।ै Q एक दवर्म 

संख्या वाल़ी मंदजल पर रहिा ह ैलेदकन मंदजल संख्या 1 पर नहीं। 

R और B िोनों एक ह़ी फ्लैट संख्या में रहिे हैं। R और A एक ह़ी 

मंदजल पर रहि ेहैं। B फ्लैट-2 में नहीं रहिा ह।ै Q और S के ब़ीच 

एक मंदजल का अिंर ह।ै Q और S िोनों एक ह़ी फ्लैट में नहीं रहिे 

हैं। R, B से 3 मंदजल ऊपर रहिा ह।ै C, D के ठ़ीक ऩीच ेउस़ी 

फ्लैट में रहिा ह।ै



Eight persons - A, B, C, D, P, Q, R and S live in a 

4-storey building such as ground floor is numbered 

as 1 above it numbered as 2 then top floor is 

numbered as 4 but not necessarily in the same 

order. Each of the floors has two flats in it as flat-1 

and flat-2. Flat-1 of floor 2 is immediately below 

flat-1 of floor 3 and so on. In the same way, flat-2 

of floor 2 is immediately above flat-2 of floor 1 and 

immediately below flat 2 of floor 3 and so on. Flat-

1 is to the West of flat-2. Q lives in an odd-

numbered floor but not on floor number 1. Both R 

and B live in the same flat number. R and A live in 

the same floor. B does not live in flat-2. There is a 

gap of one floor between Q and S. Both Q and S do 

not live in the same flat. R lives 3 floors above B. C 

lives immediately below D on the same flat.



Certain number of people are sitting in 

a linear row facing towards the north 

direction. U sits third from one of the 

extreme ends but not adjacent to S. 

Four persons sit between A and B. Two 

persons sit between B and E. More than 

two persons sit between B and P. Y sits 

immediate left of A. Y sits fifth from 

one of the extreme ends. R sits third 

from one of the extreme ends. Nine 

persons sit between Y and R. S sits 

fourth to the left of E. P sits third to the 

right of S.

कुछ लो  एक पंदक्त में उत्तर दिशा की ओर 

उन्मखु होकर बैठे हैं। U दकस़ी एक अंदिम छोर 

से ि़ीसरे स्थान पर बैठा ह ैलेदकन S के आस-

पास नहीं ह।ै A और B के ब़ीच चार व्यदक्त 

बैठे हैं। B और E के ब़ीच िो व्यदक्त बैठे हैं। B 

और P के ब़ीच िो से अदधक व्यदक्त बैठे हैं। 

Y, A के ठ़ीक बाए ंबैठा ह।ै Y बैठा ह ैदकस़ी 

एक अंदिम छोर से पांचवां। R दकस़ी एक 

अंदिम छोर से ि़ीसरे स्थान पर बैठा ह।ै Y और 

R के ब़ीच नौ व्यदक्त बैठे हैं। S, E के बायें से

चौथे स्थान पर बैठा ह।ै P, S के िायें से ि़ीसरे

स्थान पर बैठा ह।ै



Certain number of people are sitting in a linear row facing towards the north 

direction. U sits third from one of the extreme ends but not adjacent to S. Four 

persons sit between A and B. Two persons sit between B and E. More than two 

persons sit between B and P. Y sits immediate left of A. Y sits fifth from one of the 

extreme ends. R sits third from one of the extreme ends. Nine persons sit between Y 

and R. S sits fourth to the left of E. P sits third to the right of S.



How many pair of letters are there in the word “EFFECTIVE” which 

has as many letters (in both forward and backward direction) in 

between as they have in English alphabet series?

शब्द “EFFECTIVE” में अक्षरों के ऐसे नकतिे युग्म हैं नजिके बीच में उतिे ही अक्षर 

हैं (आगे और पीछे दोिों नदशाओ ंमें) नजतिे उिके बीच अंगे्रजी वर्णमािा श्रंखिा में 

हैं?

1.Two

2.Three

3.Four

4.None of these

5.One



There are eight cars A, B, C, D, E, F, G, and H 

in a park within a certain distance. Car A is 

8km to the east of Car B, which is 9km north of 

Car D. Car C is 5km to the south of Car F, 

which is 6km to the west of Car G. Car G is 

4km to the north of Car A. Car E is 8km to the 

west of Car C. Car H is 2km to the south of Car 

E. Car G is in which direction with respect to 

Car C? 

1. North 

2. South 

3. East 

4. South-West 

5. North-East

आठ कारें A, B, C, D, E, F, G और H एक 

दनदिि िरू़ी के भ़ीिर एक पाकथ में हैं। कार A, कार 

B के 8 दकम़ी पवूथ में ह,ै जो कार D के 9 दकम़ी 

उत्तर में ह।ै कार C, कार F के 5 दकम़ी िदक्षण में ह,ै 

जो कार G के 6 दकम़ी पदिम में ह।ै कार G, कार 

A के 4 दकम़ी उत्तर में ह।ै कार E, कार C के 8 

दकम़ी पदिम में ह।ै कार H, कार E के 2 दकम़ी 

िदक्षण में ह।ै कार G, कार C के संिभथ में दकस 

दिशा में ह?ै 

1.उत्तर 

2. िदक्षण 

3. पवूथ 

4. िदक्षण-पदिम 

5. उत्तर-पवूथ



There are eight cars A, B, C, D, E, F, G, and H 

in a park within a certain distance. Car A is 

8km to the east of Car B, which is 9km north of 

Car D. Car C is 5km to the south of Car F, 

which is 6km to the west of Car G. Car G is 

4km to the north of Car A. Car E is 8km to the 

west of Car C. Car H is 2km to the south of Car 

E. Car G is in which direction with respect to 

Car C? 

1. North 

2. South 

3. East 

4. South-West 

5. North-East


